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QUESTION 1

You are an HR specialist and want to add new values to a lookup. You have access to the specific work
area, but are unable to perform the activity.

Identify the correct statement about this.

A. You can access the task for profile options from the Setup and Maintenance menu.

B. You cannot add new lookup codes and meanings to the existing lookup types.

C. You can create new lookup types but cannot modify the existing ones.

D. The system administrator must enable the lookup before it is modified in the work area.

E. Oracle applications contain certain predefined system lookups that are locked for editing.

Correct Answer: E

QUESTION 2

As the Workflow Administrator you are responsible for ensuring that approval workflows are handled in a
timely basis.

If you notice that there are outstanding notifications, what action can you take to move the approval along?
A. Deny the workflow on behalf of the assigned Approver.

B. Approve the workflow on behalf of the assigned Approver.

C. Push back the workflow to another Approver.

D. Reassign the workflow to another Approver.

Correct Answer: D

QUESTION 3

If multiple people update a performance rating for a competency on a worker\\'s profile, what is used to provide a unique
identifier for each instance of the competency so what you can determine who provided what rating?

A. educational establishment
B. rating model
C. content subscriber

D. instance qualifier
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E. content library

Correct Answer: D

QUESTION 4

A manager returned from US Subsidiary after a period of 3 months to his source location of UK Subsidiary. Which is the
option a Human Resource representative should exercise to re-instate the manager\\'s records in the source legal
employer?

A. Create another assignment with the return date as the effective date.

B. Entering the return will automatically re-instate the record on the return date.

C. Deploy a Descriptive Flexfiled to capture the return date. Update this segment with the actual return date to reinstate
the record.

D. Initiate the End Global Temporary Assignment action and specify a return date. The global temporary assignment is
terminated and the assignment\\'s in the source legal employer are reinstated automatically on the return date.

Correct Answer: D

QUESTION 5

For the Change Manager transaction, the first-level approval is set to the Application Role type. The name of the
application role is HR Specialist Sales. In the Change Manager approval rule configuration, the Enable Auto Claim
option is deselected. Which two actions take place when the transaction for manager change is initiated for employees?
(Choose two.)

A. The transaction goes into error because it was no auto-claimed.

B. The transaction has to be approved by all HR Specialist Sales representatives for it to be approved.

C. The transaction goes for approval to all the workers who inherit the HR Specialist Sales role.

D. One of the HR Specialist Sales representatives should "Claim" the transaction for it to be assigned for approval.

E. If one of the HR Specialist Sales representatives rejects the transaction, others can still approve it.

F. The transaction will be auto-claimed and assigned randomly to anyone who has the HR Specialist Sales role.

Correct Answer: CD

QUESTION 6
Action Type identifies the type of business process associated with an action and determines what
happens when you select that Action. As part of implementing Oracle Global Human Resources Cloud,

Action Types are associated with Actions.
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Which two statements are correct regarding Action types? (Choose two.)
A. Additional Action types can be created.

B. An Action type cannot be associated with user-defined actions.

C. Action types are seeded.

D. Every Action type can have multiple actions within it.

E. If Termination is an action, Normal Termination is an action type.

Correct Answer: CD

QUESTION 7

You are implementing the Checklist functionality for one of your customers. The customer wants the checklist template
to be allocated to persons automatically. What should you do to archive the required functionality?

A. Managers can automatically allocate checklist templates to the persons whom they manage from Person Gallery.

B. Associate the eligibility profile with the checklist template to allocate the checklist to persons automatically when they
satisfy the criteria built in the eligibility profile.

C. Associate the action with the checklist template to allocate the checklist to persons automatically when they
experience the action.

D. Associate the area of responsibility with the checklist template to allocate the checklist to persons automatically when
they are given the specific area of responsibility.

E. Associate a life event with the checklist template to allocate the checklist to persons automatically when they
experience the event.

Correct Answer: C

QUESTION 8

A Human Resource Representative is in the process of transferring an employee from the French Subsidiary to the US
Subsidiary and exercise the option of Global Transfer. Identify the three options for the Global Transfer process.

A. The Human Resources Representative can override the default by deselecting the assignments that are not required
to be terminated; these assignments retain their original status and the work relationship is not terminated.

B. A new work relationship in the destination legal employer is not created automatically.

C. The existing employment terms and assignments in the source work relationship are terminated and their status is
set to Inactive - Payroll Eligible by default.

D. A new worker relationship in the destination legal employer is created automatically.
E. The Human Resource Representative cannot override the default changes.

Correct Answer: ABC
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Reference https://docs.oracle.com/cloud/r13_updatel7b/globalcs _gs/IFAWHR/FAWHR1662739.htm#FAWHR16 62739

QUESTION 9

You want to modify the look and behavior of the application through profile options. When you try to modify it, you are
unable to perform the action. Which statement is true regarding profile options?

A. You cannot modify the constituents of the existing profile options without saving them after creation.
B. You can modify the constituents of the existing profile options, but your manager must enable them for modification.

C. You can modify the constituents of the existing profile options, but the system administrator must enable them for
modification.

D. You can modify the constituents of the existing profile options, but you must enable them for modification.

Correct Answer: C

QUESTION 10

Identify the correct option regarding the status of a person who has a Non-Worker work relationship (for example, an
external trainer) with a legal employer, and applies for employment with the same legal employer and gets hired as an
employee.

A. The person retains the Non-Worker work relationship with the legal employer.

B. The person has only an Employee work relationship with the legal employer.

C. The person no longer has a Non-Worker work relationship and has only an Employee work relationship with the legal
employer.

D. The person has both Non-Worker and Employee work relationship with the legal employer.

Correct Answer: D

QUESTION 11

When configuring a checklist application task what value must be select to ensure you will only be able to select from a
list of employee tasks verses manager tasks?

A. Ensure the owner field is set to employee.

B. Ensure the eligibility profile linked to the task contains criteria the include only active employees.
C. Ensure the owner and performer are both set to employee.

D. Ensure the performer field is set to employee.

Correct Answer: C
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QUESTION 12

An organization uses the Previous Employment content type to capture relevant employment details of employees.
What do you do to make this content type available in other applications?

A. Do nothing. After the content type is created, it is available for use in all applications.
B. Make sure it is a non-free-form content type.

C. Specify a Subscriber Code for the content type.

D. Make sure it is a free-form content type.

Correct Answer: C

QUESTION 13

As an HR Administrator, you are responsible for entering Pending workers into Oracle Global Human
Resources Cloud.

Identify the three options that are correct for the Pending worker.

A. A person number is associated with a Pending Worker.

B. An employee number is associated with a Pending Worker.

C. A person who already has a person record cannot be a Pending Worker.

D. This is a person for whom you create a person record that is effective before the hire date.

Correct Answer: ACD

QUESTION 14

An employee accesses their Personal Information work area and wants to create his personal payment method. On
navigating to the link, the employee sees that the "Create\\' icon is disabled and is unable to create their personal
payment method. The employee raises a service request to troubleshoot this issue. What are the two options the
Analyst supporting the service request should look at for the root cause? (Choose two.)

A. The employee does not have a valid payment method.

B. The employee does not have a payroll relationship associated.

C. The Payroll Definition does not have a Valid Payment Method assigned.

D. The elements are not defined.

Correct Answer: BC

QUESTION 15
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An employee\\'s job description is "Recruiter" as of 01-Jan-2015. This job was updated in the system to "Consultant” on
01-Feb-2015. The 01-Feb-2015 assignment record is the latest effective dated employment record in the system. On
01-Mar-2015, the HR specialist wants to view this employee\\'s previous employment details and searches for them on
the Person Management page. The HR specialist enters the effective as-of date value as 31-Jan-2015 with the search
keyword "Recruiter" because the employee was working as a recruiter on 31st Jan 2015. The search returns no rows.
What is causing this?

A. The Person Management page search does not support Job attribute keywords.

B. The Update Person Search Keyword process has associated the effective dates with the job attributes in the keyword
record resulting in search discrepancies.

C. The Update Person Search keyword process has failed on 31-Jan-2015 but ran successfully the next day.
D. The Person Management page search does not support date-effective keywords.

E. The Update Person Search Keyword process has updated the latest effective dated job attribute in the keyword
record.

F. The Update Person Search keyword process has failed on 01-Mar-2015 but ran successfully the previous day.

Correct Answer: E

170-1046-20 VCE Dumps 170-1046-20 Practice Test 170-1046-20 Exam
Questions

170-1046-20 VCE Dumps | 120-1046-20 Practice Test | 120-1046-20 Exam Questions 717


https://www.certbus.com/1z0-1046-20.html
https://www.certbus.com/1z0-1046-20.html
https://www.certbus.com/1z0-1046-20.html
https://www.certbus.com/1z0-1046-20.html
http://www.tcpdf.org
https://www.certbus.com/1z0-1046-20.html
https://www.certbus.com/1z0-1046-20.html
https://www.certbus.com/1z0-1046-20.html

